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BTL

There are 30 people in a group. If all shake hands with one another , how many
handshakes are possible?

a. 870

b. 435

c. 30!

d.29!'+1

L3

In how many ways can we arrange the word ‘FUZZTONE’ so that all the vowels come
together?

a. 1440

b. 6

c.2160

d. 4320

L3

17 students are present in a class. In how many ways, can they be made to stand in 2
circles of 8 and 9 students?

a.17Cox 9! X 8!

b.17Cox 8! X 7!

c.8!X7!

d.17Cgx 8! X 9!

L3

Find the value of a4 for the recurrence relation ay=2an-1+3, with ap=6.

a) 320
b) 221
c) 141
d) 65

L3

What is the recurrence relation for 1, 7, 31, 127, 499?
a) bn+1=5bn1+3

b) bn=4b,+7!

c) bn=4by.1+3

d) bn=bn-1+1

L3

Determine the solution for the recurrence relation a, = 6as-1—-8an-2 provided initial
conditions ap=3 and a;=5.

a)an=4*2n-3n

b)a,=3*7n-5*3n

c)an=5*7n

d)a,=3!*5n

L3
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What is the sequence depicted by the generating series 4 + 15x% + 10x3 + 25x> +
16X6+...?

a) 10,4, 0, 16, 25, ...

b) 0, 4, 15, 10, 16, 25,...

) 4,0, 15, 10, 25, 16,...

d) 4, 10, 15, 25,...

L3

What is the generating function for the sequence 1, 6, 16, 216,....7
a) (1+6x)/x3
b) 1/(1-6x)
) 1/(1-4x)
d) 1-6x?

L3

What is the generating function for the sequence with closed formula
an=4(7")+6(-2)"?

a) (4/1-7x)+6!

b) (3/1-8x)

) (4/1-7x)+(6/1+2x)

d) (6/1-2x)+8

L3

10

There are 70 patients admitted in a hospital in which 29 are diagnosed with typhoid,
32 with malaria, and 14 with both typhoid and malaria. Find the number of patients
diagnosed with typhoid or malaria or both.

a) 39

b) 17

c) 47

d) 53

L3

11

A card is drawn randomly from a standard deck of cards. Determine the probability
that the card drawn is a queen or a heart.

a)l/4

b) 13/56
c)4/13
d)5/52

L3

12

In a renowned software development company of 240 computer programmers 102
employees are proficient in Java, 86 in C#, 126 in Python, 41 in C# and Java, 37 in
Java and Python, 23 in C# and Python, and just 10 programmers are proficient in all
three languages. How many computer programmers are there those are not
proficient in any of these three languages?

L3
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a) 138
b) 17
c) 65
d) 49

From a group of 8 men and 6 women, five persons are to be selected to form a
committee so that at least 3 women are there on the committee. In how many ways
can it be done?

13 | a) 686 L3
b) 438
c) 732
d) 549
[s the recurrence relation an = an-1 + a%n-2 is linear.
14 | a)True L2
b)False
What is the solution of the recurrence relation
an=an-1+*2an2 withap=2anda;=7?
15 aJan=3-2C j"Cuv L3
b)a,=2-2"C j"Cuv Q
cJan=3:3"C j"Cu g
d)a,=2-3"C j"Cu q
What is the generating function for the sequence 1,1,1,1,1, 17
axs€¢ vqrjy ¥ € v (Q
16 |b)x6zx>Q7j§ @ € v Q L3
c)l1C ¢q®wiy @ € uv(Q
dx¢C v @75 &
The degree of this recurrence relation a, = an-s .
a)l
17 | b)2 L2
c)4
d)5
There are 32 microcomputers in a computer center. Each microcomputer has 24 ports.
How many different ports to a microcomputer in the center are there?
18 1:3;6;8 L2
c) 224
d)56
How many different bit strings of length seven are there?
a)128
19 | b)256 L2
c)7
d)56
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20

A student can choose a computer project from one of three lists. The three lists contain
23, 15,and 19 possible projects, respectively. No project is on more than one list. How
many possible projects are there to choose from?

a)57

b)6555

o)l

d)3

L2

21

How many bit strings of length eight either start with a 1 bit or end with the two bits 00?
a)120

b)8

c)28

d)160

L2

22

A computer company receives 350 applications from computer graduates for a job
planning a line of new Web servers. Suppose that 220 of these applicants majored in
computer science, 147 majored in business, and 51 majored both in computer science
and in business. How many of these applicants majored neither in computer science nor
in business?

a)198

b)570

c)316

d)710

L2

23

How many different ways are there to seat four people around a circular table, where
two seating's are considered the same when each person has the same left neighbor and
the same right neighbor?

a)24

b)6

c)4

d)5

L3

24

In how many ways can we select three students from a group of five students to stand in
line for a picture?

a)120

b)20

c)60

d)100

L3

25

How many ways are there to select a first-prize winner, a second-prize winner, and a
third-prize winner from 100 different people who have entered a contest?

a)6

b)97

c)1000000

d)970,200

L3

26

How many permutations of the letters ABCDEFGH contain the string ABC ?
a)6

L3
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b)720
)27
d)3

27

How many ways are there to select five players from a 10-member tennis team to make
a trip to a match at another school?

a)10

b)5

c)252

d)50

L3

28

What is the solution of the recurrence relation a, = 6 an-1— 9 an-2 with initial conditions
ao=1and a; =67

a)an=3"+n*3"

b)a,=3n+*3n

C) ap = 3 " +n2*3n

d) ap =3 " +n3*3n

L3

29

In how many ways can 6 people sit on a round table?
a)60

b)120

c)6!

d)6

L3

30

In how many ways can a necklace be made with different colors of 7 pearls?
a)360

b)120

c)7!

d)é!

L3

31

Find the number of ways that 5 boys and 5 girls can sit circularly such that a boy should
sit between two girls.

a)120

b)2880

c)24

d)10

L3
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